

# A Note on Laplace Adomian Decomposition Method on A Linear Problem

Manzo Senjaya Budiman<sup>1</sup> and Daniel Salim<sup>1,\*</sup>

<sup>1</sup> Center for Mathematics and Society, Department of Mathematics, Parahyangan Catholic University, Indonesia

e-mail: manzosenjaya@gmail.com (M. S. Budiman); daniel.salim@unpar.ac.id (D. Salim)

**Abstract** In the last two decades, the Laplace Adomian Decomposition Method (LADM) has been vastly used to solve nonlinear (or even fractional order) differential equations. The method approaches the solution with the partial sums of function series. However, it is not easy to show that the limit of the function series is the exact solution to the problem. In this article, we consider a simple problem such as a homogenous second-order linear ordinary differential equation with constant coefficients. We prove analytically that the LADM gives the right exact solution to the considered problem.

**MSC:** 44A10; 34A05

**Keywords:** Ordinary differential equation; Initial value problem; Laplace Adomian decomposition method

---

Received: 17-10-2023 / Accepted: 17-02-2024 / Published: 28-02-2024

DOI : <https://doi.org/10.62918/hjma.v2i1.16>

## 1. Introduction

In [5], Khuri presented the Laplace Adomian Decomposition Method (abbreviated as LADM) for solving nonlinear differential equations. The idea of the technique is to assume an infinite solution of the form  $y = \sum_{n=0}^{\infty} y_n$ , then apply the Laplace transformation to the problem. The nonlinear term is decomposed in terms of Adomian polynomials [1]. By ignoring the interchangeability of infinite sum and integral, an iterative algorithm is constructed for solving  $u_n$  in a recursive manner.

In the last two decades, LADM has been widely considered to solve nonlinear differential equations. In 2009, Kiymaz used LADM to solve an initial value problem involving the Cauchy-Euler operator [6]. In 2010, LADM was considered by Tsai to approximate an analytic solution of nonlinear Riccati differential equations [7]. In 2012, Heris analyzed the convergence of LADM for integro-differential equations [4]. The LADM is also vastly applied to system differential equations (see [2, 3, 9]). Furthermore, LADM is also considered for fractional order problems (see [8, 10]).

Since the interchangeability of infinite sum and integral is ignored, we are curious whether the approximation solution by LADM gives the same results as the exact one.



This work is licensed under CC BY-SA  
Creative Commons Attribution-ShareAlike 4.0 International License.

\*Corresponding author.

Published by Komunitas Analisis Matematika Indonesia.  
Copyright ©2023 by HilbertJMA. All rights reserved.

In this paper, we consider a simple problem such as the homogeneous second-order linear ordinary differential equations with a constant coefficient. We obtain the following result which we prove in the last section.

**Theorem 1.1.** *The LADM gives the exact solution to any homogeneous second-order linear ordinary differential equations with constant coefficient.*

## 2. Preliminaries

### 2.1. Laplace Adomian Decomposition Method

Let us recall the LADM from [5]. Let  $f(y)$  be a nonlinear operator. We consider the homogeneous second-order nonlinear differential equation

$$y'' + ay' + by = f(y) \quad (2.1)$$

with initial-value  $y(0) = \alpha$  and  $y'(0) = \beta$ . The idea of the LADM is to decompose the solution as an infinite series,

$$y = \sum_{n=0}^{\infty} y_n$$

and also to decompose the nonlinear operator  $f(y)$  as

$$f(y) = \sum_{n=0}^{\infty} A_n,$$

where  $A_n$  is the Adomian polynomials given by

$$A_n = \frac{1}{n!} \frac{d^n}{du^n} f \left( \sum_{i=0}^{\infty} u^i y_i \right) \Big|_{u=0}$$

for each  $n \in \mathbb{N} \cup \{0\}$ . Thus, applying the Laplace transform (with notation  $\mathcal{L}$ ) to (2.1), and applying the decomposition of  $y$  and  $f(y)$ , we have

$$\mathcal{L} \left( \sum_{n=0}^{\infty} y_n \right) = \frac{\alpha}{s} + \frac{\beta + a\alpha}{s^2} - \frac{a}{s} \mathcal{L} \left( \sum_{n=0}^{\infty} y_n \right) - \frac{b}{s^2} \mathcal{L} \left( \sum_{n=0}^{\infty} y_n \right) + \frac{1}{s^2} \mathcal{L} \left( \sum_{n=0}^{\infty} A_n \right) \quad (2.2)$$

Notice that, we still do not know whether the integral (from the Laplace transform) and the infinite sum (from the decomposition of  $y$  or  $f(y)$ ) are interchangeable. Regardless, we pair both sides of (2.2) as follows:

$$\mathcal{L}(y_0) = \frac{\alpha}{s} + \frac{\beta + a\alpha}{s^2}$$

$$\mathcal{L}(y_n) = -\frac{a}{s} \mathcal{L}(y_{n-1}) - \frac{b}{s^2} \mathcal{L}(y_{n-1}) + \frac{1}{s^2} \mathcal{L}(A_{n-1}) \quad \text{for each } n \in \mathbb{N}.$$

Applying the inverse Laplace transform, we recursively solve for  $y_n$ , and obtain:

$$y_0(t) = \alpha + (\beta + a\alpha)t \quad (2.3)$$

$$y_n(t) = -a(1 * y_{n-1})(t) - b(1 * 1 * y_{n-1})(t) + (1 * 1 * A_{n-1})(t) \quad (2.4)$$

for each  $n \in \mathbb{N}$ , where  $*$  is the convolution;

$$(f * g)(t) = \int_0^t f(\tau)g(t - \tau)d\tau.$$

## 2.2. Homogeneous second-order differential equation

Let us consider (2.1) with  $f(y) = 0$ , as follows

$$y'' + a y' + b y = 0, \quad y(0) = \alpha, \quad y'(0) = \beta. \quad (2.5)$$

Assume that  $c$  and  $d$  are complex numbers that satisfy  $a = -(c + d)$  and  $b = cd$ . It is well known that the general solution of (2.5) are

$$y = A e^{ct} + B e^{dt}, \text{ for } c \neq d,$$

$$y = A e^{ct} + B t e^{ct}, \text{ for } c = d.$$

Given the initial value  $y(0) = \alpha$  and  $y'(0) = \beta$ , we have the exact solution of (2.5) are

$$y = \frac{\beta - \alpha d}{d - c} e^{ct} + \frac{\alpha c - \beta}{d - c} e^{dt}, \text{ for } c \neq d, \quad (2.6)$$

$$y = \alpha e^{ct} + (\beta - c\alpha) t e^{ct}, \text{ for } c = d. \quad (2.7)$$

## 3. Proof of Theorem 1.1

Let us rewrite (2.3) and (2.4) in term of  $c$  and  $d$  as in Subsection 2.2. (Note that since  $f(y) = 0$ , we have  $A_n = 0$  for all  $n$ .)

$$y_0(t) = \alpha + (\beta - (c + d)\alpha)t \quad (3.1)$$

$$y_n(t) = (c + d)(1 * y_{n-1})(t) - (cd)(1 * 1 * y_{n-1})(t) \quad (3.2)$$

for each  $n \in \mathbb{N}$ . Now let us consider separately the case of  $c \neq d$  and the case of  $c = d$ .

### 3.1. The case of $c \neq d$

Since  $c \neq d$ , we can write (3.1) as

$$y_0(t) = \frac{\beta - \alpha d}{d - c} (1 - ct) + \frac{\alpha c - \beta}{d - c} (1 - dt) = A \sum_{j=1}^2 c_{0,j} t^{j-1} + B \sum_{j=1}^2 d_{0,j} t^{j-1}$$

with

$$A = \frac{\alpha d - \beta}{d - c}, \quad B = \frac{\beta - \alpha c}{d - c}, \quad c_{0,1} = d_{0,1} = 1, \quad c_{0,2} = -c, \quad d_{0,2} = -d.$$

By (3.2), we expect that we have

$$y_n(t) = A \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} + B \sum_{j=1}^{n+2} d_{n,j} t^{n+j-1} \quad (3.3)$$

for each  $n \in \mathbb{N} \cup \{0\}$ . Suppose that (3.3) is true for every  $n = k - 1$  with  $k \in \mathbb{N}$ , we aim to show that (3.3) is true for  $n = k$ . Since

$$y_k(t) = (c + d) \int_0^t y_{k-1}(\tau) d\tau - cd \int_0^t \int_0^\tau y_{k-1}(w) dw d\tau,$$

and  $y_{k-1}$  can be expressed as (3.3), we obtain

$$\begin{aligned}
 y_k(t) = & A \left[ \left( \frac{c+d}{k} c_{k-1,1} \right) t^k \right. \\
 & + \sum_{j=2}^{k+1} \left( \left( \frac{c+d}{k+j-1} c_{k-1,j} - \frac{cd}{(k+j-2)(k+j-1)} c_{k-1,j-1} \right) t^{k+j-1} \right) \\
 & - \left( \frac{cd}{2k(2k+1)} c_{k-1,k+1} \right) t^{2k+1} \Big] + B \left[ \left( \frac{c+d}{k} d_{k-1,1} \right) t^k \right. \\
 & + \sum_{j=2}^{k+1} \left( \left( \frac{c+d}{k+j-1} d_{k-1,j} - \frac{cd}{(k+j-2)(k+j-1)} d_{k-1,j-1} \right) t^{k+j-1} \right) \\
 & - \left( \frac{cd}{2k(2k+1)} d_{k-1,k+1} \right) t^{2k+1} \Big].
 \end{aligned}$$

By setting

$$c_{k,j} = \begin{cases} \frac{c+d}{k} c_{k-1,1}, & \text{for } j = 1; \\ \frac{c+d}{k+j-1} c_{k-1,j} - \frac{cd}{(k+j-2)(k+j-1)} c_{k-1,j-1}, & \text{for } j = 2, 3, \dots, k+1; \\ -\frac{cd}{2k(2k+1)} c_{k-1,k+1}, & \text{for } j = k+2, \end{cases} \quad (3.4)$$

and setting  $d_{k,j}$  in the similar way as  $c_{k,j}$ , notice that  $y_k$  can be expressed as (3.3). Thus, by induction (3.3) is valid for all  $n \in \mathbb{N} \cup \{0\}$ . Therefore, by the LADM, the approximation solution of (2.5) is given by

$$y(t) = \sum_{n=0}^{\infty} y_n(t) = A \sum_{n=0}^{\infty} \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} + B \sum_{n=0}^{\infty} \sum_{j=1}^{n+2} d_{n,j} t^{n+j-1}.$$

Now, we need to show that

$$\sum_{n=0}^{\infty} \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} = e^{ct}, \quad \text{and} \quad \sum_{n=0}^{\infty} \sum_{j=1}^{n+2} d_{n,j} t^{n+j-1} = e^{dt}.$$

Since  $d_{n,j}$  is defined in similar way as  $c_{n,j}$ , it suffices to work on the summation of  $c_{n,j}$ . By the Maclaurin series

$$e^{ct} = \sum_{i=0}^{\infty} \frac{c^i}{i!} t^i,$$

we only need to show that for each  $i \in \mathbb{N} \cup \{0\}$

$$\sum_{(n,j) \in C_i} c_{n,j} = \frac{c^i}{i!}, \quad (3.5)$$

where  $C_i = \{(n, j) : n + j - 1 = i, \quad j \in \{1, \dots, n+2\}\}$ . Let us first check for  $i = 0$ ,  $i = 1$ , and  $i = 2$ . For  $i = 0$ , we have  $\sum_{(n,j) \in C_0} c_{n,j} = c_{0,1} = 1$ . For  $i = 1$ , by (3.4)  $\sum_{(n,j) \in C_1} c_{n,j} = c_{0,2} + c_{1,1} = -d + (c+d)c_{0,1} = c$ . Lastly, for  $i = 2$ , and by (3.4) we have

$$\sum_{(n,j) \in C_2} c_{n,j} = c_{1,2} + c_{2,1} = \frac{(c+d)}{2} c_{0,2} - \frac{cd}{2} c_{0,1} + \frac{(c+d)^2}{2} c_{0,1} = \frac{c^2}{2}.$$

Assume that (3.5) holds for  $i = m - 2$  and  $i = m - 1$  with  $m \geq 2$ . It is now suffices to show that (3.5) is true for  $i = m$ . Note that, if  $m$  is odd,

$$\sum_{(n,j) \in C_m} c_{n,j} = \sum_{j=1}^{\frac{m+1}{2}+1} c_{m+1-j,j}$$

and if  $m$  is even,

$$\sum_{(n,j) \in C_m} c_{n,j} = \sum_{j=1}^{\frac{m}{2}+1} c_{m+1-j,j}.$$

For either case of  $m$ , by (3.4), we obtain

$$\begin{aligned} \sum_{(n,j) \in C_m} c_{n,j} &= \frac{c+d}{m} \sum_{(n,j) \in C_{m-1}} c_{n,j} - \frac{cd}{m(m-1)} \sum_{(n,j) \in C_{m-2}} c_{n,j} \\ &= \frac{c+d}{m} \frac{c^{m-1}}{(m-1)!} - \frac{cd}{m(m-1)} \frac{c^{m-2}}{(m-2)!} = \frac{c^m}{m!}. \end{aligned}$$

Hence, by induction, (3.5) holds for each  $i \in \mathbb{N} \cup \{0\}$ . Thus, we can conclude that for the case of  $c \neq d$ , LADM gives the same solutions as (2.6).

### 3.2. The case of $c = d$

Note that (3.1) can be rewritten as

$$y_0(t) = \alpha(1 - ct) + (\beta - c\alpha)t = A \sum_{j=1}^2 c_{0,j} t^{j-1} + Bt \sum_{j=1}^1 d_{n,j} t^{j-1}$$

with

$$A = \alpha, \quad B = \beta - c\alpha, \quad c_{0,1} = d_{0,1} = 1, \quad c_{0,2} = -c.$$

By (3.2), we expect that

$$y_n(t) = A \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} + Bt \sum_{j=1}^{n+1} d_{0,j} t^{n+j-1} \quad (3.6)$$

for each  $n \in \mathbb{N} \cup \{0\}$ . Assume that (3.6) holds for  $n = k - 1$  with  $k \in \mathbb{N}$ , we shall prove that (3.6) is also valid for  $n = k$ . Since

$$y_k(t) = 2c \int_0^t y_{k-1}(\tau) d\tau - c^2 \int_0^t \int_0^\tau y_{k-1}(w) dw d\tau,$$

we obtain

$$\begin{aligned}
 y_k(t) = A & \left[ \left( \frac{2c}{k} c_{k-1,1} \right) t^k \right. \\
 & + \sum_{j=2}^{k+1} \left( \left( \frac{2c}{k+j-1} c_{k-1,j} - \frac{c^2}{(k+j-2)(k+j-1)} c_{k-1,j-1} \right) t^{k+j-1} \right) \\
 & - \left( \frac{c^2}{2k(2k+1)} c_{k-1,k+1} \right) t^{2k+1} \Big] + Bt \left[ \left( \frac{2c}{k+1} d_{k-1,1} \right) t^k \right. \\
 & + \sum_{j=2}^k \left[ \left( \frac{2c}{k+j} d_{k-1,j} - \frac{c^2}{(k+j-1)(k+j)} d_{k-1,j-1} \right) t^{k+j-1} \right] \\
 & \left. - \frac{c^2}{2k(2k+1)} d_{k-1,k} t^{2k} \right].
 \end{aligned}$$

By letting  $c_{k,j}$  be the same as (3.4), and setting

$$d_{k,j} = \begin{cases} \frac{2c}{k+1} d_{k-1,1}, & \text{for } j = 1; \\ \frac{2c}{k+j} d_{k-1,j} - \frac{c^2}{(k+j-1)(k+j)} d_{k-1,j-1}, & \text{for } j = 2, 3, \dots, k; \\ -\frac{c^2}{2k(2k+1)} d_{k-1,k}, & \text{for } j = k+1, \end{cases} \quad (3.7)$$

then  $y_k$  can be written as (3.6). Therefore, (3.6) is valid for any  $n \in \mathbb{N} \cup \{0\}$  by induction. Hence, by the LADM, the approximation solution of (2.5) is given by

$$y(t) = \sum_{n=0}^{\infty} y_n(t) = A \sum_{n=0}^{\infty} \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} + Bt \sum_{n=0}^{\infty} \sum_{j=1}^{n+1} d_{n,j} t^{n+j-1}.$$

In Subsection 3.1, we have shown that

$$\sum_{n=0}^{\infty} \sum_{j=1}^{n+2} c_{n,j} t^{n+j-1} = e^{ct}.$$

We now need to prove that

$$\sum_{n=0}^{\infty} \sum_{j=1}^{n+1} d_{n,j} t^{n+j-1} = e^{ct}.$$

Thus, we verify that for each  $i \in \mathbb{N} \cup \{0\}$

$$\sum_{(n,j) \in D_i} d_{n,j} = \frac{c^i}{i!} \quad (3.8)$$

where  $D_i = \{(n, j) : n + j - 1 = i, j \in \{1, \dots, n+1\}\}$ . Let us first verify for  $i \in \{0, 1, 2\}$ . For  $i = 0$ , we have  $\sum_{(n,j) \in D_0} d_{n,j} = d_{0,1} = 1$ . Next, for  $i = 1$ , by (3.7) we can calculate  $\sum_{(n,j) \in D_1} d_{n,j} = d_{1,1} = cd_{0,1} = c$ . Then, for  $i = 2$ , by (3.7), we have

$$\sum_{(n,j) \in D_2} d_{n,j} = d_{1,2} + d_{2,1} = -\frac{c^2}{3!} d_{0,1} + \frac{4c^2}{3!} d_{0,1} = \frac{c^2}{2}.$$

Suppose that (3.8) valid for  $i = m - 2$  and  $i = m - 1$  with  $m \geq 2$ . We shall show that (3.8) holds for  $i = m$ . If  $m$  is odd, then

$$\sum_{(n,j) \in D_m} d_{n,j} = \sum_{j=1}^{\frac{m+1}{2}} d_{m+1-j,j}.$$

For even  $m$ , we have

$$\sum_{(n,j) \in D_m} d_{n,j} = \sum_{j=1}^{\frac{m}{2}+1} d_{m+1-j,j}.$$

For either case of  $m$ , by (3.7)

$$\begin{aligned} \sum_{(n,j) \in D_m} d_{n,j} &= \frac{2c}{m+1} \sum_{(n,j) \in D_{m-1}} d_{n,j} - \frac{c^2}{m(m+1)} \sum_{(n,j) \in D_{m-2}} d_{n,j} \\ &= \frac{c^m}{(m+1)(m-2)!} \left( \frac{2}{m-1} - \frac{1}{m} \right) = \frac{c^m}{m!}. \end{aligned}$$

Thus, by induction (3.8) holds for any  $i \in \mathbb{N} \cup \{0\}$ . This verifies that for the case of  $c = d$ , LADM gives the same solutions as the exact one (2.7). This completes the proof of Theorem 1.1.

## Acknowledgement

This research was supported by Parahyangan Catholic University via the Dana Mandiri 2 research grant scheme 2023 (Number: III/LPPM/2023-07/137-PDM).

## References

- [1] G. Adomian, *Solving Frontier Problems of Physics: the Decomposition Method*, Springer Science & Business Media 2013.
- [2] J. Fadaei, Application of Laplace-Adomian decomposition method on linear and nonlinear system of PDEs., *Appl. Math. Sci.*, **5** (2011), 1307–1315.
- [3] T. Harko and M. K. Mak, A simple computational approach to the susceptible-infected-recovered (SIR) epidemic model via the Laplace-Adomian decomposition method, *Rom. Rep. Phys.*, **73(114)** (2021).
- [4] J. M. Heris, Solving the Integro-Differential Equations Using the Modified Laplace Adomian Decomposition Method, *J. Math. Ext.*, **6** (2012), 41–55.
- [5] S. A. Khuri, Laplace decomposition algorithm applied to a class of nonlinear differential equations, *J. Appl. Math.*, **1** (2001), 141–155.
- [6] O. Kiymaz, An algorithm for solving initial value problems using Laplace Adomian decomposition method, *Appl. Math. Sci.*, **3** (2009), 1453–1459.
- [7] P. Y. Tsai, An approximate analytic solution of the nonlinear Riccati differential equation, *J. Frank. Inst.*, **347** (2010), 1850–1862.

- 
- [8] S. P. Yan, H. Jafari, and H. K. Jassim, Local fractional Adomian decomposition and function decomposition methods for Laplace equation within local fractional operators, *Adv. Math. Phys.*, **2014.(161580)** (2014).
  - [9] A. O. Yunus, M. O. Olayiwola, K. A. Adedokun, J. A. Adedeji, and I. A. Alaje, Mathematical analysis of fractional-order Caputo's derivative of coronavirus disease model via Laplace Adomian decomposition method, *Beni-Suef univ. j. basic appl. sci.*, **11(144)** (2022).
  - [10] A. O. Yunus, M. O. Olayiwola, M. A. Omoloye, and A. O. Oladapo, A fractional order model of lassa disease using the Laplace-adomian decomposition method, *Health Care Anal.*, **3(100167)** (2023).